10.

11.

12.

Egg-cellent Trivia

How many chicken eggs would it take to equal 1 ostrich egg? 12, 18, 24

80 birds species lay their eggs in another species’ nest. Name one that
lives in Ontario.

How long does a chick take to cracks its way out of an egg (for small
birds)? 1, 1.5, 2 hours.

Chicken with white ear lobes lay white eggs, whereas chickens with red
ear lobes lay what colour eggs?

What colour takes its name from the colour of a particular bird’s egg?

A Ruby-throated Hummingbird egg is the size of a . . ..
a kidney bean, a navy bean

a jelly bean,

Name a nursey rhyme that features an egg.
Chicken eggs are egg shaped, what shape are owl eggs?

What appears to be a plain white egg to human eyes may be boldly
coloured to a bird. How can we see what a bird sees?

Birds that lay their eggs in the open, without a sturdy nest, lay pointed,
teardrop-shaped eggs. Why?

Birds do not have teeth except for one tooth when they are a chick. What

is that the tooth called?

What kind of eggs does Sam like to eat?
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